_t)]::

P

+

5 At ]

CDEXE

BUTILT—4

ti 73451

ETE I p166({RERTEET)

B T ABEMRFTAES REBEN I DK
stEBI 200059 A lIBE P.166 DFFEH



B 0 R, NP PO R R R P R R R OOORFRDNRPRRRPOWRRPRPRRRRRPRRPNRRRRRPR

w
N

»
N

N e e
UOA W N e

N NN DN NN DNDDNDNDDN

O 00 N O O b W DN P

o1 o1 o1 o1 o1 o1 O
0 N o O W N

A W N P

el el

o/ o

© © © 0 0O N ~N N O O O O O O U A DMWWWRNRNRNDNDIERIERRRR R B

el ol ol ol ol o e o O
W W WNNRRPRPRREROOOOOOO O




€Y)
@
2.1.2
€Y)
O]
®
*

3.1
3.1.1 4
@
D
2)
@
D
2)
3)
®
D
2)
3)
3.1.2
@
D
2)
@
D
2)
3)
®
D
2)
3)
©)
D
2)
3.1.3

4.1
4.1.1
@
D
2)
&)
D
2)
3)
®
D

Mr

Rd

13
13
13
13
13
14
14
15
15
15
15
15
15
17
17
18
18
20
20
21
23
25
25
25
25
27
27
28
29
30
30
31
33
35
35
35
37
38
38
38
38
38
38
40
40
4
41
43
43




2)
3)
*
D
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€Y)
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6.1.3

M1
22
33
44
6.1.4
M1
)2
3)3
@4
6.1.5
M1
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3)3
(O
6.1.6
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7.1.1
7.1.2

43
45
46
46
46
47
48
48
48
48
48
49
49
49
51
53
53
54
55
56
59
59
60
61
62
64
64
65
66
67
69
69
71
71
71
71




1
1.1
1.1.1
p166( ). few
P.166
1.1.2
11 3
1.1.3
Bx (m) 16.000
By (m) 13.000
1.1.4
G.L. 2.000(m)
G.L. -2.000(m)
G.L. 1.000(m)
H.W.L(m) 1.000
L.W.L(m) -1.000
1.1.5
G.L. -7.000(m)
1.000(m)
No. G.L. m
1 0.000
2 -2.000
3 -4.000
4 -5.500
m
2 4.650
4 3.000
(m
1 2 3 4 5
1.500 45°
45°

FORUMS8



1.2
1.2.1

1.2.2 1

mm

4650
3700
4650

mm

wNE

rWNE

3000
3333
3334
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3000

EENOCN S

e

1.500
1.500
1.500
1.500

45
45
45
45

1.2.3 2

mm

4650
3700
4650

mm

WP

AWN P

3000
3333
3334
3333
3000

WP

N e

1.500
1.500
1.500
1.500

45
45
45
45
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mm
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wNnE

A
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1.500
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1.2.5 4

mm
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3700
4650

mm

owMNPE

WP
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3333
3334
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3000

[y

NP

A
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.500
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S

45
45
45
45
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No.

abwnNE

RPN R N

WNN PR
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W B 1-1
20340
200470 16000 17®000
= I 3 = 3]
%—% .g VST
77
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1.3
1.3.1
SS400
1.3.2
1.50
1.00(m/s)
0.60x% H(m)
K 0.7
50.0(kN/m*)
Ps(kN/m) | hs (m)
1.3.3
a Eo
KH  (KN/m?) 5000.0
kH  (KN/m) 5000.0
1.4
1.4.1
G.L. -2.000m
No Co
m N y y'’ (0} 2 K a Eo
KN/ KN/ KN/ e | ks
1 2.000 15.0 18.0 9.0 5.00 15.0 0.0 42000
2 7.000 2.0 17.0 8.0 5.00 20.0 0.0 5600
3 20.000 4.0 17.0 8.0 5.00 18.0 2.0 11200

FORUMS8



No Co
m N \ y'’ ® 2 K
KN/ KN/ KN/™ | g
1 4.000 5.0 18.0 9.0 20.00 0.0 0.0
G.L. -2.000m
No ) Co
m N y Y @ 2 K a Eo
KN/ KN/ KN/ ngme | ks
1 2.000 15.0 18.0 9.0 5.00 15.0 0.0 42000
2 7.000 2.0 17.0 8.0 5.00 | 20.0 0.0 5600
3 20.000 4.0 17.0 8.0 5.00 18.0 2.0 11200
G.L. -2.000m
No Co
m N y Yy’ (0] > K a Eo
KN/ KN/ KN/ vt | /e
1 2.000 15.0 18.0 9.0 5.00 15.0 0.0 42000
2 7.000 2.0 17.0 8.0 5.00 20.0 0.0 5600
3 20.000 4.0 17.0 8.0 5.00 18.0 2.0 11200
1.5
1.5.1
SY295
270(N/mm?)
150(N/mm?)
2.00x 10°(N/mm)
a
B 1.00
B 0.45
0.60
0.60
kN/m kN/m
v 0.00 | 1V 0.00
1.5.2

SS400

ga 210(N/mm?)
o cal 210(N/mm?)
Ta 120(N/mm?)

Nt 150(kN)

FORUMS8




Hk 0(mm)
[
No G.L. m
1 0.000 | H 350x 350x 12x 19 1
2 -2.000 | H 350x 350x 12x 19 1
3 -4.000 | H 350x 350x 12x 19 1
4 -5.500 | H 350x 350x 12x 19 1
[
No G.L. m
1 -0.350 | H 350x 350x 12x 19 1
2 -2.350 [ H 350x 350x 12x 19 1
3 -4.350 | H 350x 350x 12x 19 1
4 -5.850 [ H 350x 350x 12x 19 1
1.5.3
SS400
oa 210(N/mm?)
o cal 210(N/mm?)
2.00x 10°(N/mm*)
Nt 150(kN)
w 5.00(kN/m)
[
No G.L. m
1 0.000 | H 300x 300x 10x 15 1
2 -2.000 [ H 300x 300x 10x 15 1
3 -4.000 | H 300x 300x 10x 15 1
4 -5.500 | H 300x 300x 10x 15 1
[
No G.L. m
1 -0.350 | H 300x 300x 10x 15 1
2 -2.350 | H 300x 300x 10x 15 1
3 -4.350 [ H 300x 300x 10x 15 1
4 -5.850 | H 300x 300x 10x 15 1
1.5.5
SS400

oa 315(N/mm?)
ca 210(N/mm?)
T cal 210(N/mm*)

FORUMS8




2
No G.L. m
1 0.000 | H 300x 300x 10x 15 1
2 -2.000 [ H 300x 300x 10x 15 1
3 -4.000 [ H 300x 300x 10x 15 1
4 -5.500 [ H 300x 300x 10x 15 1
(m
1 2 3 4 5
1.350 [ 3.450 [ 5.600 | 7.700 | 9.850
1.5.6
H 300x 300x 10x 15
G.L. 2.000(m)
2.000(m)
SS400
Nt 150(kN)
W 5.00(kN/m)
1B
N4 0.00(kN)
2.00x 10°(N/mm?)
1.5.7
G.L. m m mm N/mny
1.000 2.000 36.0 SS400 40mm 141
1.5.8
SS400
ca 210(N/mm?)
TL/10
No G.L. m
1.000 150x 75% 6.5x 10

FORUMS8
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1.6
1.6.1
No G.L. G.L.
No - .
1 1|2 -3.000 | -3.000
2 2 |3 -5.000 | -5.000
3 3 |4 -6.500 | -6.500
4 4 7.000 | -7.000
[ |
G.L. KN/
No G.L.
1 1.000| 0.000| 0.000
2 1.000 | 0.000| 0.000
3 1.000| 0.000| 0.000
4 1.000 | 0.000 | 0.000
1.6.2
No G.L. G.L.
No - .
1 4 -2.000 | 1.000
[ |
G.L. kN/m?
No G.L.
1 1.000| 0.000| 0.000
1.7
1.7.1
2.0
1.8
1.8.1
(€H)
[ 1 ]
0.3y h
a
Fs 1.20

FORUMS8
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o al 0.300(m)
0 a2 0.300(m)
y wl 10.00(kN/m3)
y w2 10.00(kN/m3)
)
[ 18 1
2.000
N NX 5.000
N Nx 6.000
N Nx 4.000
1.8.2
¢y
No w h W A | z
(mm/ )| (mm) (kg/m) (cm’/m) | (cm/m) | (cm’/m)
(1 400 100 48.0 153.00 8740 874
211 400 125 60.0 191.00 16800 1340
311 400 130 60.0 191.00 17400 1340
411V 400 170 76.0 242.50 86000 3820
5| VL 500 200 105.0 267.60 63000 3150
6| Ilw 600 130 61.8 131.20 13000 1000
71 1w 600 180 81.6 173.20 32400 1800
8 | IVw 600 210 106.2 225.50 56700 2700
(2H
No H B tw tf A w
(mm) | (mm) | (mm) | (mm) | (cm?) | (kg/m)
1|H 100x 100x 6% 8 100 | 100 6.0 8| 21.59 16.9
2 |H 125x 125x 6x 9 125 | 125 6.5 9| 30.00 23.6
3 | H 150x 150x 7x 10 150 | 150 7.0 10| 39.65 31.1
4 |H 175x 175x 7x 11 175 | 175 7.5 11| 51.42 40.4
5|H 200x 200x 8x 12 200 | 200 8.0 12 | 63.53 49.9
6 | H 250x 250x 9x 14 250 [ 250 9.0 14| 91.43 71.8
7 | H 300x 300x 10x 15 300 [ 300 10.0 15| 118.40 93.0
8 | H 350x 350x 12x 19 350 | 350 12.0 19 | 171.90 | 135.0
9 |H 400x 400x 13x 21 400 | 400 13.0 21| 218.70 | 172.0
10 | H 400x 400x 18x 28 414 | 405 18.0 28 | 295.40 | 232.0
11 | H 400x 400x 20x 35 428 | 407 20.0 351360.70 | 283.0
12 | H 400x 400x 30x 50 458 | 417 30.0 50 | 528.60 [ 415.0
13 | H 400x 400x 45x 70 498 | 432 45.0 70 | 770.10 | 605.0
14 | H 200x 200x 8x 12 200 | 200 8.0 12 | 51.53 55.0
15 | H 250x 250x 9x 14 250 [ 250 9.0 14| 78.18 80.0
16 | H 300x 300x 10x 15 300 | 300 10.0 15 | 104.80 | 100.0
17 | H 350x 350x 12x 19 350 | 350 12.0 19 | 154.90 | 150.0
18 | H 400x 400x 13x 21 400 | 400 13.0 21| 197.70 | 200.0
No Ix Iy X Zy ix iy ik
(em) | (em) | (em) | (em) (cm) | (cm) | (cm)
1|H 100x 100x 6% 8 378 134 76 27 4.18 2.49 2.75
2 |H 125x 125x 6x 9 839 293 134 47 5.29 3.13 3.45
3 |H 150x 150x 7x 10 1620 563 216 75 6.40 3.77 4.15
4 |H 175x 175x 7x 11 2900 984 331 112 7.50 4.37 4.80
5|H 200x 200x 8x 12 4720 1600 472 160 8.62 5.02 5.50
6 | H 250x 250x 9x 14 10700 3650 860 292 | 10.80 6.32 6.91
7 |H 300x 300x 10x 15 20200 6750 1350 450 | 13.10 7.55 8.28
8 | H 350x 350x 12x 19 39800 | 13600 2280 776 | 15.20 8.89 9.71
9 |H 400x 400x 13x 21 66600 | 22400 3330 1120 | 17.50 ( 10.10 | 11.00
10 | H 400x 400x 18x 28 92800 | 31000 4480 1530 | 17.70 | 10.20 | 11.20
11 | H 400x 400x 20x 35 119000 | 39400 5570 1930 | 18.20 ( 10.40 | 11.40

FORUMS8
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No Ix Iy Zx Zy ix iy ik
(cn) | (em) | (em) | (cm) (cm) | (cm) | (cm)
12 | H 400x 400x 30x 50 187000 | 60500 8170 2900 | 18.80 | 10.70 | 11.80
13 | H 400x 400x 45x 70 298000 | 94400 [ 12000 4370 | 19.70| 11.10 | 12.30
14 | H 200x 200x 8x 12 3660 919 366 92 8.43 4.22 5.63
15 | H 250x 250x 9x 14 8850 2860 708 229 | 10.60 6.05 6.72
16 | H 300x 300x 10x 15 17300 5900 1150 394 | 12.90 7.51 8.34
17 | H 350% 350x 12x 19 35000 [ 12500 2000 716 | 15.10 8.99 9.93
18 | H 400x 400x 13x 21 59000 [ 20300 2950 1010 | 17.30 | 10.10 | 11.16
€)
No H B tl 2 w Zx
(mm) | (mm) | (mm) | (mm) | (kg/m) | (cm)
1 150x 75x 6.5x 10 150 75 6.5 10 18.6 115
2 150x 75x 9x 12.5 150 75 9.0 13 24.0 140
3 180x 75x 7x 10.5 180 75 7.0 11 21.4 153
4 200x 80x 7.5x 11 200 80 7.5 11 24.6 195
5 200x 90x 8x 13.5 200 90 8.0 14 30.3 249
6 250x 90x 9x 13 250 90 9.0 13 34.6 334
7 250%x 90x 11x 14.5 250 90 11.0 15 40.2 374
8 300x 90x 9x 13 300 90 9.0 13 38.1 429
9 300x 90x 10x 15.5 300 90 10.0 16 43.8 494
10 300x 90x 12x 16 300 90 12.0 16 48.6 525
11 380x 100x 10.5x 16 380 | 100 10.5 16 54.5 763
12 380x 100x 13x 16.5 380 [ 100 13.0 17 62.0 823
13 380x 100x 13x 20 380 | 100 13.0 20 67.3 926
x 2 1 2
4)
2.00x 10° N/mm?

No ( N/mm)

1 | SS400 40mm 141

2 | SS400 40mm 129

3] SS490 40mm 165

4 | SS490 40mm 153

5 490 195

6 590 235

7 690 264

FORUMS8
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2.1
2.1.1
@

@
D

2)

2.1.2
@

D

2)

)
D

2)

G.L.(m) 2.000
G.L.(m) -2.000
H.W.L G.L.(m) 1.000
R.W.L G.L.(m) 1.000
B (m 2.000
H (m) 4.000
h m) 3.000
Fs 1.50
v = 1.00(n/s)
0.60x h
K=0.7
B= 2.000(m), H= 4.000(m)
Mdx Fs 2x Mr
2
Mdx Fs  (kN.m/m) 2x Mr - (kN.m/m)
3.78x 1.50 = 5.67 2x 6.30 = 12.60
Px Fs 2xRd
2
Px Fs  (kN/m) 2x Rd  (kN/m)
2.10x 1.50 = 3.15 2x 7.87 = 15.75
P(kN/m) h(m) Md (kN .m/m)
2.10 1.800 3.78
0.00 1.000 0.00
2.10 3.78
Pv = KXv*XA
=0.7X 1.00°X< 3.000 = 2.10 (kN/m)
K : [0.7]

FORUMS8
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®

Q)

Mr

D

2)

3)

VoI [ 1.00](m/s)
A : = x h( )= 1.0x 3.000 = 3.000(m)
My = PvX (0.60Xh)=  2.10X 1.800 = 3. 78 (kN. m/m)
Mr
1
= — X ymXRXH
6
1 .
= ?§><11'25><0'052>< 4.000° = 6.30(kN. m/m)
R :
2 _
R = EXV‘X(S - VXcos¢)Xtand Xsin¢
2 2
= ?;><o.5oo~x (3 = 0.500X0.940) X0.364X0. 342 =0. 052
B 2. 000
V:ivVv=—= = 0.500
H 4. 000
H: (m)
Q: )
ym: (kN/m*)
, (R.W.L) y t(
No Li , y sy s
C.Lm | 6L | M | ) sz/%%'
1 2.000 1.000 | 1.000 | 18.0 18.00
2 1.000 | -1.000 | 2.000 9.0 18.00
3| -1.000| -2.000| 1.000 9.0 9.00
b2 4.000 45.00
Yy’ ili
ym = ___ZTI____ = 11.25(KkN/m)
Rd

Rdl = tang ux (X y ' iLi)x B
= tan 5.00x ( 45.00)x 2.000 = 7.87(kN/m)

Sy’ ili = 45.00
ou [20.00] [ 5.00]
¢ 50.0kN/m’
15.0<50.0

Rd = Rdl =  7.87(kN/m)

).y “(

FORUMS8
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3
3.1
3.1.1 4
¢h)
4
2. 00
1. 00 < 1 00
H 0. 00
H| 28620
H| 40
p\ < 650 -6.500 | —6.50
~11.00 | —11. 00
1
G.L.(m) 2.000
G.L.(m) |  -6.500
G.L.(m) |  -4.000
G.L.(m) 1.000
G.L.(m) | -6.500
q kN/m* 0.00
q kN/m? 0.00
2)
No
N ()] )
G.L.(m) | G.L.(m) Ny | ks
1] 2.000| 1.000 5.0 18.0 9.0 20.0| 10.0
2| 1l000| -2.000 5.0 1870 9.0| 200| 1000
3| -2.000| -4.000 15.0 18.0 9.0| 50| 25
4| -4.000| -6.500 2.0 17.0 80| 50| 25
5| -6.500 | -11.000 2.0 17.0 80| 50| 25
6| -11.000 | -31.000 4.0 17.0 80| 50| 25
I ‘ w | aE
vy | gy | oe.L.qny | KVmY | (kN
1 0.0 0.0 2.000 0.0 0

FORUMS8
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a Eo

Co K | s
vy | vy | o6.L.qm)

2 0.0 0.0 2.000 0.0 0
3 15.0 0.0 -2.000 30.0 42000
4 20.0 0.0 -4.000 40.0 5600
5 20.0 0.0 -4.000 40.0 5600
6 18.0 2.0 -11.000 76.0 11200
N ()| )
G.L.(m) | G.L.(m) (KN/TP) | (kN/)
-6.500 -11.000 2.0 17.0 8.0 5.0 2.5
-11.000 -31.000 4.0 17.0 8.0 5.0 2.5

a Eo

Co K Qs | ki
vy | gy | 6L qm

20.0 0.0 -4.000 40.0 5600
18.0 2.0 | -11.000 76.0 11200

FORUMS8
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@
D

4
(G.L. -6.500)m
F 1.200
Z(m) | 9.090(G.L.-15.590)m
D(M) | 10.908(G.L.-17.408)m
Y(m) | 5.390(G.L.-11.890)m
(m | 3.000(6.L. -9.500)m
(m) | 11.500(G.L.-18.000)m
O
20..000m
2. 000 2,000
8. 83 S
o Yi.SS :
22. 06 30, 00 3
\i?.29 \Qg.oo g
95. 41 50, 00 S
e
. . ool N
—6.500 33. 04 75. 00 =
= 13,67 \33. 04 75. 00
() \ ()
() o \ ()
Lo (o)) \ Lo
< /zéf°? \ <
Lo \ é
86. 53 \ 63. 27 7.87
82, 1¢/ : J66. 93 37.87
K - | K
~ | ~
145, 9% 180, 94
(G.L.-15.590)m
Ma  Mw(kN.m/m ) 6438.58 | Pa(kN/m ) 111560
Mp(kN..m/m ) 6441.24 | Pp(kN/m ) 816.37
Mp Ma Mw 1.0
Y om 5.390
Mp Y
Y Mp Pp

FORUMS8
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2)
pa* max pa,pamin
pa Ka Zyh q 2cV/ Ka Ka tan® 45° ¢ 2
pamin 0.30 Xy h
No GL(m) ?m) (0] kN?mz 2 rh+q Ka pa pamin pa*
v () KN/ KN/ KN/ KN/t
1 2.000 | 1.000|18.0| 20.00 0.0 0.00 | 0.490 0.00 0.00 0.00
1.000 0.0 18.00 8.83 0.00 8.83
2 1.000 [ 3.000| 9.0 | 20.00 0.0 18.00 | 0.490 8.83 0.00 8.83
-2.000 0.0 45.00 22.06 0.00 22.06
3 -2.000 | 2.000| 9.0 5.00 15.0 45.00 | 0.840 10.29 0.00 10.29
-4.000 15.0 63.00 25.41 0.00 25.41
4 -4.000 | 0.615| 8.0 5.00 20.0 63.00 | 0.840 16.25 18.90 18.90
-4.615 20.0 67.92 20.38 20.38 20.38
5 -4.615| 1.885| 8.0 5.00 20.0 67.92 | 0.840 20.38 20.38 20.38
-6.500 20.0 83.00 33.04 24.90 33.04
6 -6.500 | 4.500| 8.0 5.00 20.0 83.00 | 0.840 33.04 24.90 33.04
-11.000 20.0 119.00 63.27 35.70 63.27
7] -11.000 | 4.590 | 8.0 5.00 18.0 119.00 | 0.840 66.93 35.70 66.93
-15.590 27.2 155.72 80.94 46.72 80.94
No h pw
GLaM | ) | wwsme
1 1.000 | 3.000 0.00
-2.000 30.00
2 -2.000 [ 2.000 30.00
-4.000 50.00
3 -4.000 | 0.615 50.00
-4.615 56.15
4 -4.615| 1.885 56.15
-6.500 75.00
5 -6.500 | 4.500 75.00
-11.000 37.87
6| -11.000 | 4.590 37.87
-15.590 0.00
pp Kp £y h q 2cV Kp Kp tan* 45° ¢@ 2
No h c
GL(m) [0} > | Zrh+q pp
(m y ) kN/m KN/m? Kp KN/
1 -6.500 | 4.500| 8.0 5.00 20.0 0.00 | 1.191 43.65
-11.000 20.0 36.00 86.53
2| -11.000 | 4.590| 8.0 5.00 18.0 36.00 | 1.191 82.16
-15.590 27.2 72.72 145.93
3)
pl p2 h pl p2 xh 2
h 3 x pl 2xp2 pl p2

FORUMS8
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No h pa Pa y Ma
6L | m) | ks KN/ 0 KN.m/m
1| -4.000| 0.615| 18.90| 12.07| 0.311 3.76
~4.615 20.38
2| -4.615| 1.885| 20.38| 50.35| 1.632 82.16
~6.500 33.04
3| -6.500| 4.500| 33.04| 216.69| 4.985|  1080.27
~11.000 63.27
4| -11.000| 4.500| 66.93| 339.37| 9.367| 3179.01
~15.590 80.94
s 618.48 4345.21
No h pw Pw y Mw
GLAM | (my | ke KN/m 0 KN.m/m
1| -4.000| 0.615| 50.00| 32.63| 0.313 10.23
-4.615 56.15
2| -4.615| 1.885| 56.15| 123.62| 1.603 198.11
-6.500 75.00
3| -6.500| 4.500| 75.00| 253.96| 4.503| 1143.66
~11.000 37.87
4| -11.000| 4.500| 37.87| 86.91| 8.530 741.38
~15.590 0.00
s 497.12 2093.37
No h pp Pp y Mp
GLOM | my | Kz KN/m m KN.m/m
1| -6.500| 4.500| 43.65| 292.90| 4.997 |  1463.64
~11.000 86.53
2| -11.000| 4.500| 82.16| 523.47| 9.509 |  4977.60
~15.590 145.93
s 816.37 6441.24

FORUMS8




- 20 -

®
D

4
G.L.m (G.L. 2.000)m
G.L.m (G.L. 2.000)m
G.L.m (G.L. -6.500)m
y KN/m° 9.11
q m 0.000(G.L. 2.000)m
H m 8.500
ay |-
a H m 8.500
H P 1.000
c m 13.500(G.L.-11.500)m
PR [p— 6.000
p acy KN/m? 54.67
2. 000 2. 000
fan)
<
10.93 Sla
0,93 18
21.87 10. 00 =
\{i§87 \{g;oo o
e}
[}
43.73 30. 00 I
3.73 0, 00 S
54,67 \§4o.oo Slo
54. 67 kgxoo =
54. 67 50. 00 <
54. 67 30. 00
<
<
Lo
o
—6. 500 54. 67 75. 00
43.6§/ 54. 67 75. 00
() <
< . <
Lo
2 86.53// 54. 67 7.87 2
= B80T/ A4, 67 JAE AL Sl
St 88.67 54. 67 34. 00 Sh 2
5.390(m) 5.000(m)
m (G.L. -4.000)m
m (G.L.-11.500)m
m 7.500
Mmax kN.m/m 499.27
m 3.035(6.L. -7.035)m
Smax KN/m 336.39
m 0.000(G.L. -4.000)m
RA KN/m 336.39
RB KN/m 166.01
® max m 0.0274
m 3.375(6.L. -7.375)m

FORUMS8
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2)

2 3
m (G.L. -2.000)m
m G.L. -4.000)m
m 2.000
Mmax kN.m/m 46.46
m 1.027(G.L. -3.027)m
Smax kN/m 97.09
m 2.000(G.L. -4.000)m
RA kN/m 86.78
RB kN/m 97.09
d max m 0.0002
m 1.000(G-L. -3.000)m
1 2
m (G.L. 0.000)m
m (G.L. -2.000)m
m 2.000
Mmax kN.m/m 26.51
m 1.065(G.L. -1.065)m
Smax kN/m 59.78
m 2.000(G.L. -2.000)m
RA kN/m 45.82
RB kN/m 59.78
d max m 0.0001
m 0.900(G.L. -0.900)m
No Li , L, e .
Y y ' iLi
G.L.(m) | G.L.(m) | (m) KN/ KN/
1 2.000 1.000 | 1.000 18.0 18.00
2 1.000 -2.000 | 3.000 9.0 27.00
3 -2.000 -4.000 | 2.000 9.0 18.00
4 -4.000 -6.500 | 2.500 8.0 20.00
5 -6.500 [ -11.000 | 4.500 8.0 36.00
6| -11.000 | -11.500 [ 0.500 8.0 4.00
2z 13.500 123.00
Y Xy h Zh 9.11(kN/m®)
No h pw
GL(m) pp pa : p
(m KN/ KN/ kh/m KN/
1 2.000 | 1.000 0.00 0.00 0.00 0.00
1.000 0.00 10.93 0.00 10.93
2 1.000 | 1.000 0.00 10.93 0.00 10.93
0.000 0.00 21.87 10.00 31.87
3 0.000 | 2.000 0.00 21.87 10.00 31.87
-2.000 0.00 43.73 30.00 73.73
4 -2.000 | 1.000 0.00 43.73 30.00 73.73
-3.000 0.00 54.67 40.00 94.67

FORUMS8
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No h pw
GL(m) pp pa 2 p
m KN/ KN/ kN/m KN/
5| -3.000| 1.000 0.00 54.67 40.00 94.67
-4.000 0.00 54.67 50.00 104.67
6| -4.000| 2.500 0.00 54.67 50.00 104.67
-6.500 0.00 54.67 75.00 129.67
7| -6.500 | 4.500 43.65 54.67 75.00 86.01
-11.000 86.53 54.67 37.87 6.01
8| -11.000 | 0.469 82.16 54.67 37.87 10.38
-11.469 88.67 54.67 34.00 0.00
9| -11.469 | 0.031 88.67 54.67 34.00 0.00
-11.500 89.11 54.67 33.75 0.00
10| -11.500 | 4.090 0.00 0.00 0.00 0.00
-15.590 0.00 0.00 0.00 0.00
[ 110
[ p pa pw pp

FORUMS8
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3)

d 01 862 da

5
51
. Bey-elL
01 = =8 Fla
52
52 R K
52 52 2
oa
12
G.L.(m) 0.000
Y m 5.000
12 G.L.(m) ~9.000
L m 9.000
p KN/ 880.77
WP L KN/ 97.863
E x 10°KN/T 2.000
51 I m'/m 000086000
a | - 0.600
51 m 0.0810
KH KN/ 5000
B m 1.000
A BxY m 50000
52 K KHx A KN/ 25000
R wxL 2 kN/m 440.38
52 R K m 0.0176
52 62 2 m 0.0088
5 51 52 m 0.0898
12 G.L.(m) ~4.500
da m 0.300
----- o
P
No h p P
6L | ) | /it KN/m
1| 0.000| 2.000| 31.87| 105.60
~2.000 73.73
2| -2.000| 1.000| 73.73| 84.20
~3.000 94.67
3| -3.000| 1.000| 94.67| 99.67
~4.000 104.67
a| -4.000| 2.500| 104.67| 292.92
~6.500 129.67
5| -6.500| 2.500| 129.67| 298.38
~9.000 109.04
s 880.77

FORUMS8
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kH

FORUMS8
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3.1.2
@

D

2)

2. 00
ZAN
1. 00 < 1 00
H 0. 00
H| o660
H| 8620
H| 5. 50
_ = 700 ~7.00 | -7.00
~11.00 | —11. 00
G.L.(m) 2.000
G.L.(m) | -7.000
G.L.(m) |  -5.500
G.L.(m) 1.000
G.L.(m) | -7.000
q kN/m* 0.00
q kN/m? 0.00
No N
5 5 ) )
G.L.(m) | G.L.(m) Ny | v
1] 2.000| 1.000 5.0 18.0 9.0 20.0| 10.0
2| 1l000| -2.000 5.0 18.0 9.0| 2000| 1000
3| -2.000| -4.000 15.0 18°0 90| 50| 205
4| -4.000 | -7.000 2.0 17.0 80| 50| 25
5| -7.000 | -11.000 2.0 17.0 80| 50| 25
6| -11.000 | -31.000 4.0 17.0 80| 50| 25
o g ‘ W | g
ovmy | oy | oL qmy | KVm) ) (kN/)
1 0.0 0.0 2.000 0.0 0
2 0.0 0.0| 2.000 0.0 0
3 15.0 0.0| -2.000 30,0 | 42000
4 20.0 0.0| -4.000 40.0 5600
5 20.0 0.0| -4.000 40.0 5600
6 1870 2.0| -11.000 76.0 | 11200

FORUMS8
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N

G.L.(m) | G.L.(m) vy |y | C) O
~7.000 | -11.000 2.0 17.0 8.0 50| 2.5
~11.000 | -31.000 4.0 17.0 80| 50| 25

Co k qu a Eo
anvmy | gy | oL qmy | KVm)) (kN/)

20.0 0.0 -4.000 40.0 5600
18.0 2.0 | -11.000 76.0 11200

FORUMS8
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@
D

(G.L. -7.000)m
F 1.200
Z(m) 8.820(G.L.-15.820)m
D(m) | 10.584(G.L.-17.584)m
Y(m) 5.231(6.L.-12.231)m
(m | 3.000(G.L.-10.000)m
(m) | 11.000(G.L.-18.000)m
O
20.000m
2. 000 2,000
8. 83 S
= Yi.SS f§
22. 06 30. 00 @
10. 29 Qg.oo §
25. 41 50, 00 A
1728, 8 \5ep-obp o
025 Xk 665160 <ig
6. 32 5. 00 ShS
~7.000 o 36. 40 —— %00 “
= 43.6% 136. 40 0. 00
() ()
S . \ S
S - \ S
< N \ <
81.76 /—'© \ 63. 27 3. 72
77.%9’ \66.93 43.72
= \ o
[N} \ [N}
Q \ Q
< \ <
144, 36/ 181,64
(6.L.-15.820)m
Ma  Mw(kN.m/m ) 5282.22 | Pa(kN/m ) 1065.98
Mp(KN.m/m ) 5285.78 | Pp(kN/m ) 785.27
Mp Ma Mw 1.0
Y m 5.231
Mp Y
Y Mp Pp

FORUMS8
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2)
pa* max pa,pamin
pa Ka Zyh q 2cV/ Ka Ka tan® 45° ¢ 2
pamin 0.30 Xy h
No GL(m) ?m) (0] kN?mz 2 rh+q Ka pa pamin pa*
v () KN/ KN/ KN/ KN/t
1 2.000 | 1.000|18.0| 20.00 0.0 0.00 | 0.490 0.00 0.00 0.00
1.000 0.0 18.00 8.83 0.00 8.83
2 1.000 [ 3.000| 9.0 | 20.00 0.0 18.00 | 0.490 8.83 0.00 8.83
-2.000 0.0 45.00 22.06 0.00 22.06
3 -2.000 | 2.000| 9.0 5.00 15.0 45.00 | 0.840 10.29 0.00 10.29
-4.000 15.0 63.00 25.41 0.00 25.41
4 -4.000 | 0.615| 8.0 5.00 20.0 63.00 | 0.840 16.25 18.90 18.90
-4.615 20.0 67.92 20.38 20.38 20.38
5 -4.615| 0.885| 8.0 5.00 20.0 67.92 | 0.840 20.38 20.38 20.38
-5.500 20.0 75.00 26.32 22.50 26.32
6 -5.500 | 1.500| 8.0 5.00 20.0 75.00 | 0.840 26.32 22.50 26.32
-7.000 20.0 87.00 36.40 26.10 36.40
7 -7.000 | 4.000| 8.0 5.00 20.0 87.00 | 0.840 36.40 26.10 36.40
-11.000 20.0 119.00 63.27 35.70 63.27
8| -11.000 [ 4.820 | 8.0 5.00 18.0 119.00 | 0.840 66.93 35.70 66.93
-15.820 27.6 157.56 81.64 47.27 81.64
No h pw
6L | (my | /it
1 1.000 | 3.000 0.00
-2.000 30.00
2 -2.000 [ 2.000 30.00
-4.000 50.00
3 -4.000 | 0.615 50.00
-4.615 56.15
4 -4.615( 0.885 56.15
-5.500 65.00
5 -5.500 [ 1.500 65.00
-7.000 80.00
6 -7.000 [ 4.000 80.00
-11.000 43.72
7| -11.000 | 4.820 43.72
-15.820 0.00
pp Kp Zyh g 2cV Kp Kp tan®* 45° ¢ 2
No h c
GL(m) 0] . | Zrhtg pp
(m) Y ) kN/m KN/ Kp KN/
1 -7.000 | 4.000| 8.0 5.00 20.0 0.00 | 1.191 43.65
-11.000 20.0 32.00 81.76
2| -11.000 | 4.820| 8.0 5.00 18.0 32.00 | 1.191 77.40
-15.820 27.6 70.56 144.36

FORUMS8
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3)
pl p2 pl p2 xh 2
h 3 x
No h pa Pa y Ma
6L | my | Kz KN/m m KN.m/m
1| -5.500| 1.500| 26.32| 47.04| 0.790 37.17
~7.000 36.40
2| -7.000| 4.000| 36.40| 199.33| 3.680 733.47
~11.000 63.27
3| -11.000| 4.820| 66.93| 358.06| 7.990 |  2860.77
-15.820 81.64
s 604.43 3631.41
No h pw Pw y Mw
GLeM | (my | ke KN/m " KN.m/m
1| -5.500| 1.500| 65.00| 108.75| 0.776 84.38
~7.000 80.00
2| -7.000| 4.000| 80.00| 247.44| 3.304 817.66
~11.000 43.72
3| -11.000 | 4.820| 43.72| 105.36| 7.107 748.78
-15.820 0.00
s 461.55 1650.81
No h pp Pp y Mp
6L | m) | ks KN/ 0 KN.m/m
1| -7.000| 4.000| 43.65| 250.83| 3.703 928.72
~11.000 81.76
2| -11.000| 4.820| 77.40| 534.44| 8.153|  4357.06
~15.820 144.36
s 785.27 5285.78

pl 2x p2

pl p2

FORUMS8
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®
D

G.L.m (G.L. 2.000)m
G.L.m (G.L. 2.000)m
G.L.m (G.L. -7.000)m
% kN/m? 9.07
q Vv m 0.000(G.L. 2.000)m
H m 9.000
ay |-
a H m 9.000
H P 1.000
c m 14.000(6G.L.-12.000)m
PR [p— 6.000
p acy KN/m? 54.43
2. 000 2,000
<
10. 89 Slo
0. 89 =
21,77 10. 00 <
xii;77 \{S;oo o™
o)
[}
43,54 30. 00 N
3. 54 0, 00 S
sf. 43 §48. 88 3 S
giiig \§50.00 <
54. 43 ?. 00 St
Lo
54, 43 65, 00 =
54. 43 65. 00 =
Lo
—7. 000 54, 43 80. 00 B
= 43.65 54, 43 80. 00
< <
g /—= g
< S <
/ S
< 81.7€% 54, 43 13, 72 -
K 774 } 3.2 =
>1E 8945 24— 3|8
< 89. 95 54. 43 35. 52 .
() o
5.231(m) 5.000(m)
m (G.L. -5.500)m
m (G.L.-12.000)m
m 6.500
Mmax kN.m/m 336.18
m 2.660(G.L. -8.160)m
Smax kN/m 283.18
m 0.000(G.L. -5.500)m
RA KN/m 283.18
RB KN/m 130.92
® max m 0.0138
m 2.925(G.L. -8.425)m

FORUMS8
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4
m (G.L. -4.000)m
m G.L. -5.500)m
m 1.500
Mmax kN.m/m 31.48
m 0.758(G.L. -4.758)m
Smax kN/m 85.82
m 1.500(G.L. -5.500)m
RA kN/m 82.07
RB kN/m 85.82
d max m 0.0001
m 0.600(G.L. -4.600)m
3
m (G.L. -2.000)m
m (G.L. -4.000)m
m 2.000
Mmax kN.m/m 46.34
m 1.027(G.L. -3.027)m
Smax kN/m 96.85
m 2.000(G.L. -4.000)m
RA kN/m 86.56
RB kN/m 96.85
d max m 0.0002
m 1.000(G.L. -3.000)m
2
m (G.L. 0.000)m
m (G.L. -2.000)m
m 2.000
Mmax kN.m/m 26.44
m 1.065(G.L. -1.065)m
Smax kN/m 59.62
m 2.000(G.L. -2.000)m
RA kN/m 45.70
RB kN/m 59.62
d max m 0.0001
m 0.900(G.L. -0-.900)m
Li il 1 iLi

G.L.(m) | G.L.(m) | (m) (k%/mﬁ sz/mﬁ

oo WNEF

2.000 1.000 | 1.000 18.0 18.00
1.000 -2.000 | 3.000 9.0 27.00
-2.000 -4.000 | 2.000 9.0 18.00
-4.000 -7.000 | 3.000 8.0 24.00
-7.000 | -11.000 | 4.000 8.0 32.00
-11.000 | -12.000 | 1.000 8.0 8.00

14.000 127.00

Sy h Th 9.07(kN/m)

FORUMS8
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No h pw
GL(m) pp pa > p
Q) KN/ KN/ kN/m KN/
1 2.000 | 1.000 0.00 0.00 0.00 0.00
1.000 0.00 10.89 0.00 10.89
2 1.000 | 1.000 0.00 10.89 0.00 10.89
0.000 0.00 21.77 10.00 31.77
3 0.000 | 2.000 0.00 21.77 10.00 31.77
-2.000 0.00 43.54 30.00 73.54
4| -2.000| 1.000 0.00 43.54 30.00 73.54
-3.000 0.00 54.43 40.00 94.43
5| -3.000| 1.000 0.00 54.43 40.00 94.43
-4.000 0.00 54.43 50.00 104.43
6| -4.000| 1.500 0.00 54.43 50.00 104.43
-5.500 0.00 54.43 65.00 119.43
7| -5.500| 1.500 0.00 54.43 65.00 119.43
-7.000 0.00 54.43 80.00 134.43
8| -7.000| 4.000 43.65 54.43 80.00 90.78
-11.000 81.76 54.43 43.72 16.38
9| -11.000 | 0.904 77.40 54.43 43.72 20.75
-11.904 89.95 54.43 35.52 0.00
10 | -11.904 | 0.096 89.95 54.43 35.52 0.00
-12.000 91.29 54.43 34.65 0.00
11| -12.000 | 3.820 0.00 0.00 0.00 0.00
-15.820 0.00 0.00 0.00 0.00
[ 110
[ p pa pw pp

]

FORUMS8
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3)

d 01 862 da

5
51
. Bey-elL
01 = =8 Fla
52
52 R K
52 52 2
oa
12
G.L.(m) 0.000
Y m 5.000
12 G.L.(m) ~9.500
L m 9.500
p KN/ 954.74
WP L KN/ 100.499
E x 10°KN/T 2.000
51 I m'/m 000086000
a | - 0.600
51 m 0.1033
KH KN/ 5000
B m 1.000
A BxY m 50000
52 K KHx A KN/ 25000
R wx L 2 KN/ 477.37
52 R K m 0.0191
52 62 2 m 0.0095
5 51 52 m 0.1128
12 G.L.(m) ~4.750
da m 0.300
----- o
P
No h p P
6L | ) | /it KN/m
1| o0.000| 2.000| 31.77| 105.31
~2.000 73.54
2| -2.000| 1.000| 73.54| 83.99
~3.000 94.43
3| -3.000| 1.000| 94.43| 99.43
~4.000 104.43
a| -4.000| 3.000| 104.43| 358.29
~7.000 134.43
5| -7.000| 2.500| 134.43| 307.73
~9.500 111.75
s 954.74

FORUMS8
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kH

FORUMS8
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©)
D

2)

2. 000 2. 000
S S
Txe - 2 Ty

3 ‘§?.77 10. 00 j
: — = :
() <
a \33. 54 30. 00 o
S 3. 0. 00 S
Cle gfﬁzlg HH\%\ALO.OO Sl
S . 0.00 18
< =) gi.i% “‘ “ \$\§%.oo <
§ = 54. 43 0. 00 § -
= 54. 43 65. 00 —
= =1 54. 43 XTi$?O S
Lo
%%-000 54. 43 80. 00 =
R —
(e}
()
()
W
No G.L. (m) kN/m
G.L. (m) [ G.L. (m)
1 0.000 2.000 | -2.000 132.09
2| -2.000| -2.000| -4.000 183.41
3| -4.000| -4.000| -5.500 167.89
4| -5.500| -5.500| -7.000 190.39

No h pw

GL(m) pp pa . p

(m KN/ KN/ kN/m KN/

1 2.000 | 1.000 0.00 0.00 0.00 0.00
1.000 0.00 10.89 0.00 10.89
2 1.000 | 1.000 0.00 10.89 0.00 10.89
0.000 0.00 21.77 10.00 31.77
3 0.000 | 2.000 0.00 21.77 10.00 31.77
-2.000 0.00 43.54 30.00 73.54
4| -2.000| 1.000 0.00 43.54 30.00 73.54
-3.000 0.00 54.43 40.00 94.43
5| -3.000| 1.000 0.00 54.43 40.00 94.43
-4.000 0.00 54.43 50.00 104.43
6| -4.000| 1.500 0.00 54.43 50.00 104.43
-5.500 0.00 54.43 65.00 119.43
7| -5.500| 1.500 0.00 54.43 65.00 119.43
-7.000 0.00 54.43 80.00 134.43
8| -7.000| 4.000 0.00 0.00 0.00 0.00
-11.000 0.00 0.00 0.00 0.00
9| -11.000 | 0.904 0.00 0.00 0.00 0.00
-11.904 0.00 0.00 0.00 0.00

FORUMS8




- 36 -

No h pw
GL(m) pp pa 2 p
m KN/ KN/ kN/m KN/
10| -11.904 | 0.096 0.00 0.00 0.00 0.00
-12.000 0.00 0.00 0.00 0.00
11| -12.000 | 3.820 0.00 0.00 0.00 0.00
-15.820 0.00 0.00 0.00 0.00
[ 110 1
[ p pa pw pp

FORUMS8
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3.1.3
1
v
SY295
Z x 10°(mm’/m) 3820
O | = 0.600
A x 10°(mm?/m) 242.50
2
M N S
x 10°(N.mm/m ) x 10°(N/m ) x 10°(N/m )
Max 499.27 0.00 336.39
3
o = aM. 7 + E = osa
o (N/mm*)
oa (N/mm?)
Z
A
o o sa
N/mn? N/mn?
Max 217.8 270.0 o
4
_ S
T — A = Ta
T (N/mm*)
T a: (N/mm?*)
1 Ta
N/mm? N/m?
Max 13.9 150.0 o

FORUMS8
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4.1
4.1.1
@

D

2)

2. 00
= 1,00 L OOk 00
~1. 00 = 1 00
—2.00/ | —2.00
AN
~4.00] | —4.00
G.L.(m) 2.000
G.L.(my | -2.000
G.L.(m) 1.000
G.L.(m) 1.000
G.L.(my | -1.000
q kN/m* 0.00
q kN/m? 0.00
No
N ()] )
G.L.(n) | 6.L.(m) Ny | k)
1] 2.000| 1.000 5.0 18.0 9.0 20.0| 10.0
2| 1.oo0| -1.000 5.0 1870 9.0| 2000| 100
3| -1.000| -2.000 5.0 18.0 9.0 20.0| 10.0
4| -2.000| -4.000 15.0 18°0 90| Bl0| 255
5| -4.000 | -11.000 2.0 17.0 80| 50| 25
6| -11.000 | -31.000 4.0 17.0 80| 50| 25
I ‘ w | aE
vy | gy | oe.L.qny | KVmY | (kN
1 0.0 0.0 2.000 0.0 0

FORUMS8
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a Eo

Co K | s
vy | vy | o6.L.qm)

2 0.0 0.0| 2.000 0.0 0
3 0.0 0.0| 2.000 0.0 0
4 15.0 0.0 | -2.000 3000 | 42000
5 20.0 0.0 | -4.000 40.0 5600
6 180 2.0 | -11.000 76.0 | 11200
N
G.L.(m) | G.L.(m) vy oy | CO ) O
1| -2.000| -4.000 15.0 18.0 9.0 50| 2.5
2| -4l000 | -11.000 2.0 17.0 80| 50| 25
3| -11.000 | -31.000 4.0 17.0 80| 50| 25

u a Eo

Co K | ki)
Ny | gy | 6.l

WN -

15.0 0.0 -2.000 30.0 42000
20.0 0.0 -4.000 40.0 5600
18.0 2.0 | -11.000 76.0 11200

FORUMS8
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@
D

(G.L. -2.000)m
F 1.200
Z(m) 2.710(G.L. -4.710)m
D(m) 3.252(G.L. -5.252)m
Y(m) 1.541(G.L. -3.541)m
(m | 8.000(G.L.-10.000)m
(m | 8.000(G.L.-10.000)m
[e]
12.000m
2. 000 2. 000
= AN
< - 8.83
- = 8.83
e}
<
2 20.0 17.6
= 20. 00 17.65 =
= 20. 00 22. 06 2000
- 20. 00 10. 2 = 82, 74 -
[} LO [}
< - <
o 20. 00 25. 41 N 54. 18 S
— Yo —
ol 20. 66 9359 57995 &~
o Z0. 00 Z20. 38 =]
()
(G.L. -4.710)m
Ma Mw(kN.m/m ) 615.27 | Pa(kN/m ) 190.28
Mp(KN.m/m ) 615.43 | PpCkN/m ) 135.53
Mp Ma Mw 1.0
Y m 1.541
Mp Y
Y Mp Pp

FORUMS8
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2)
pa* max pa,pamin
pa Ka Zyh q 2cV/ Ka Ka tan® 45° ¢ 2
pamin 0.30 Xy h
No GL(m) ?m) (0] kNgmz 2 rh+q Ka pa pamin pa*
v () KN/ KN/ KN/ KN/t
1 2.000 | 1.000|18.0| 20.00 0.0 0.00 | 0.490 0.00 0.00 0.00
1.000 0.0 18.00 8.83 0.00 8.83
2 1.000 [ 2.000 | 9.0 | 20.00 0.0 18.00 | 0.490 8.83 0.00 8.83
-1.000 0.0 36.00 17.65 0.00 17.65
3 -1.000 | 1.000| 9.0 | 20.00 0.0 36.00 | 0.490 17.65 0.00 17.65
-2.000 0.0 45.00 22.06 0.00 22.06
4 -2.000 | 2.000| 9.0 5.00 15.0 45.00 | 0.840 10.29 0.00 10.29
-4.000 15.0 63.00 25.41 0.00 25.41
5 -4.000 | 0.615| 8.0 5.00 20.0 63.00 | 0.840 16.25 18.90 18.90
-4.615 20.0 67.92 20.38 20.38 20.38
6 -4.615| 0.095| 8.0 5.00 20.0 67.92 | 0.840 20.38 20.38 20.38
-4.710 20.0 68.68 21.01 20.60 21.01
No h pw
GLaM | ) | ks
1 1.000 [ 2.000 0.00
-1.000 20.00
2 -1.000 | 1.000 20.00
-2.000 20.00
3 -2.000 [ 2.000 20.00
-4.000 20.00
4 -4.000 [ 0.615 20.00
-4.615 20.00
5 -4.615 | 0.095 20.00
-4.710 20.00
pp Kp Zyh g 2cV Kp Kp tan®* 45° ¢ 2
No h c
GL(m) ® 2 > rh+q pp
(m) Y ) kN/m KN/ Kp KN/
1 -2.000 | 2.000| 9.0 5.00 15.0 0.00 | 1.191 32.74
-4.000 15.0 18.00 54.18
2 -4.000 | 0.710| 8.0 5.00 20.0 18.00 | 1.191 65.09
-4.710 20.0 23.68 71.85
3)
pl p2 h pl p2 xh 2
h 3 x pl 2xp2 pl p2

FORUMS8
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No h pa Pa y Ma
6L | m) | ks KN/ 0 KN.m/m
1| 1.000| 2.000 8.83| 26.48| 1.111 29.42
-1.000 17.65
2| -1.000| 1.000| 17.65| 19.86| 2.519 50.01
~2.000 22.06
3| -2.000| 2.000| 10.20| 35.70| 4.141 147.85
~4.000 25.41
4| -4.000| 0.615| 18.90| 12.07| 5.311 64.13
-4.615 20.38
5| -4.615| 0.095| 20.38 1.97 | 5.663 11.15
-4.710 21.01
s 96.08 302.56
No h pw Pw y Mw
CLM | m) | /i KN/m m KN.m/m
1| 1.000| 2.000 0.00| 20.00| 1.333 26.67
-1.000 20.00
2| -1.000| 1.000| 20.00| 20.00| 2.500 50.00
~2.000 20.00
3| -2.000| 2.000| 20.00| 40.00|  4.000 160.00
~4.000 20.00
4| -4.000| 0.615| 20.00| 12.30| 5.307 65.27
-4.615 20.00
5| -4.615| 0.095| 20.00 1.90 | 5.662 10.78
-4.710 20.00
s 94.20 312.71
No h pp Pp y Mp
GLeM | (my | ke KN/m " KN.m/m
1| -2.000| 2.000| 32.74| 86.92| 4.082 354.81
~4.000 54.18
2| -4.000| 0.720| 65.09| 48.61| 5.361 260.62
-4.710 71.85
s 135.53 615.43

FORUMS8
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€))
1
2. 000 . 000
AN
<
<
<
B 8.83
= 8. 83
()
()
()
N
20.0 17.6
20. 00 17. 6/55 =
<
<
<
- 20. 00 292. 06 2. 000
20. 00 10.2?/ %2.74
— / — —
- / - -
Lo / Lo Lo
—_ / — —_
/
20. 00 21.94/ 49, 26
m (G.L. 1.000)m
m (G-L. -3.541)m
m 4.541
Mmax kN.m/m 67.45
m 2.144(G.L. -1.144)m
Smax kN/m 51.96
m 0.000(G.L. 1.000)m
RA kN/m 51.96
RB kN/m 34.37
d max m 0.0013
m 2.270(G.L. -1.270)m
2)
No h pw
GL(m) pp pa 2 p
(m KN/’ KN/’ kN/m KN/’
1 2.000 [ 1.000 0.00 0.00 0.00 0.00
1.000 0.00 8.83 0.00 8.83
2 1.000 2.000 0.00 8.83 0.00 8.83
-1.000 0.00 17.65 20.00 37.65
3 -1.000 | 1.000 0.00 17.65 20.00 37.65
-2.000 0.00 22.06 20.00 42 .06
4 -2.000 | 1.541 32.74 10.29 20.00 0.00
-3.541 49.26 21.94 20.00 0.00

FORUMS8
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No h pw
GL(m) pp pa 2 p
m KN/ KN/ kN/m KN/
5| -3.541| 0.459 0.00 0.00 0.00 0.00
-4.000 0.00 0.00 0.00 0.00
6| -4.000| 0.615 0.00 0.00 0.00 0.00
-4.615 0.00 0.00 0.00 0.00
7| -4.615| 0.095 0.00 0.00 0.00 0.00
-4.710 0.00 0.00 0.00 0.00
L 110 1
[ p pa pw pp

FORUMS8
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3)

d 01 862 da

5
51
. Bey-elL
01 = =8 Fla
52
52 R K
52 52 2
oa
2
G.L.(m) 1.000
Y m 1.541
12 G.L.(m) 22770
L m 3.770
p KN/ 111.90
WP L KN/ 29.678
E x 10°KN/T 2.000
51 I m'/m 000086000
a | - 0.600
51 m 0.0008
KH KN/ 5000
B m 1.000
A BxY m 1.5409
52 K KHx A KN/ 7704
R wx L 2 KN/ 55.95
52 R K m 0.0073
52 62 2 m 0.0036
5 51 52 m 0.0044
12 G.L.(m) ~0.885
da m 0.300
----- o
P
No h p P
6L | ) | /it KN/m
1| 1.000 | 2.000 8.83| 46.48
-1.000 37.65
2| -1.000| 1.000| 37.65| 39.86
~2.000 42,06
3| —2.000| 0.770| 30.20| 25.57
2,770 36.11
s 111.90

kH

FORUMS8
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©)
D

2)

1/2
2. 000 2. 000
AN
< <
< <
< <
B o 8.83 B
= 8. 89—
< <
< <
< <
o o
20. 00 17. 65 o
20. 00 17. 65/ =
o 7 o
() / ()
(e <
- 20. 00 22. 06 2,000
=
Lo
No G.L. (m) kN/m
G.L. (m) [G.L. (m)
1| 1.000| 2.000| -2.000 45.37
No h pw
GL(m) pp pa A p
m KN/ KN/ kN/m KN/
1| 2.000| 1.000 0.00 0.00 0.00 0.00
1.000 0.00 8.83 0.00 8.83
2| 1.000| 2.000 0.00 8.83 0.00 8.83
-1.000 0.00 17.65 20.00 37.65
3| -1.000| 1.000 0.00 17.65 20.00 37.65
~2.000 0.00 22.06 20.00 42.06
4| -2.000| 1.541 0.00 0.00 0.00 0.00
~3.541 0.00 0.00 0.00 0.00
5| -3.541| 0.459 0.00 0.00 0.00 0.00
~4.000 0.00 0.00 0.00 0.00
6| -4.000| 0.615 0.00 0.00 0.00 0.00
~4.615 0.00 0.00 0.00 0.00
7| -a.615| 0.095 0.00 0.00 0.00 0.00
~4.710 0.00 0.00 0.00 0.00
[ 10 1
[ ] p pa pw pp

FORUMS8
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4.1.2
1
v
SY295
Z x 10°(mm’/m) 3820
O | = 0.600
A x 10°(mm?/m) 242.50
2
M N S
x 10°(N.mm/m ) x 10°(N/m ) x 10°(N/m )
Max 67.45 0.00 51.96
3
o = aM. 7 + E = osa
o (N/mm*)
oa (N/mm?)
Z
A
o o sa
N/mn? N/mn?
Max 29.4 270.0 o
4
_ S
T — A = Ta
T (N/mm*)
T a: (N/mm?*)
1 Ta
N/mm? N/m?
Max 2.1 150.0 o

FORUMS8
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5
5.1
5.1.1
€y
G.L.(m) -18.000
G.L.(m) -7.000
L1 m 11.000
G.L.(m) -10.000
G.L.(m) -2.000
L2 m 16.000
H.W.L. G.L.(m) 1.000
hw m 8.000
L2
@
1
L1+L2
Fs = Fsa
hw
Fs
Fsa
hw
L1 )
L2 ( )
2
L1 L2 hw Fs
L1 (m) L2 (m) (m) (m Fsa
11.000 16.000 27.000 8.000 3.38 2.00

(m
(m

FORUMS8
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6
6.1
6.1.1
1
i 141 241 341 4%
217
1T 1 1 1
47
1 1 1 1
16000
@
1)
2)
No.
1 1 2
2 2 2
3 3 2
4 4 2
3)
No. No
1 1 1
2 2 1
3 3 1
4 4 1

19NNN

FORUMS8
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4)

A

A

AN

No.

AN

5)

No.

FORUMS8
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6.1.2
D
(kN/m)
1 132.09
2 183.41
3 167.89
4 190.39
@
€))
No. No B (m) L (m)
- Ly (m) Lz (m)
1 1 1 8 2.42 3.70 3.70 3.70
2 2 1 8 2.42 3.70 3.70 3.70
3 3 1 8 2.42 3.70 3.70 3.70
4 4 1 8 2.42 3.70 3.70 3.70
SS400
Nt 150 kN
T a 120 N/mm?
o cal 210 N/mm?
1/8)wL?
®
No. No B (m) L (m) w (kN/m)
) Ly (m) Lz (m)
1 1 1 7 3.25 3.33 5.00 3.33 3.33
2 2 1 7 3.25 3.33 5.00 3.33 3.33
3 3 1 7 3.25 3.33 5.00 3.33 3.33
4 4 1 7 3.25 3.33 5.00 3.33 3.33
SS400
Nt 150 kN
o cal 210 N/mm?
®)
No. No. L1 (m) L2 (m) L (m) w (KN/m) 0(C )
1 1 1 7 1.85 2.80 1.35 5.00 45
2 2 1 7 1.85 2.80 1.35 5.00 45
3 3 1 7 1.85 2.80 1.35 5.00 45
4 4 1 7 1.85 2.80 1.35 5.00 45
Lb L

FORUMS8
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SS400

o cal 210 N/mm?
Nt 150 kN
)
No. Hm | L (m 1 N4 (kN) | LNx (m) [ LNy (m) [ Lwx (m) [ Lwy (m)
1 7.50 1.50 o 0.000 3.25 3.33 3.33 4.09
SS400
Pt 150 kN
Wi 5.00 kN/m
w 0.91 kN/m

oa 140 N/mm?

FORUMS8
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6.1.3
D1
1)
132.09
3.70 m
2.42'm
Nt 150 kN

2)

kN/m

132.09x 2.42 150

132. 09X 3.70°

470.32 kN

iFeE—2A2F M=

8
132.09X 3.70

AW

3) - H 350x 350x 12x 19
A 171.90 cm?

4)
JEAF IS 77 B oc =

2

z 2280 cm?

470. 32X 10°

17190
226. 04X 10°

Hh I ) B

obc =

2280000

244.37X10°

= 226.04 kN.m

= 244.37 kN

27 N/mm’

= 99 N/mm*

- _ S

5)
Ly
Lz
H 350x 350x 12x 19

y
3700.0 152.0
3700.0 88.9
L r z

24.3
41.6

Ly ry
Lz rz

€Y)

oc o bey

Ttw 3744

3.70 m
3.70 m

IA

0 caz obagy (1—oc

27 + 99

o eay)

=0.69

IA

181 188 (1— 27

¢)

oc+ o bey

o eay)

99
27,/ 2025)

(1—oc

2T +—=

2025)

= ogcal

=128 = 210 ... OK

. OK

=65 = 120 N/mm” ...

OK

FORUMS8
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o bey :
0 caz :
L r 3700.0 88.9 41.6 L: r: 2
18 L r 92 0 caz 140 0.82 L r 18 x 1.5
140 0.82 41.6 18 x 1.5 181
o bagy:
Lb b 3700.0 350 10.6 Lb: (=Lz) b=
4.5 Lb b 30 o bagy 140 2.4 Lb b 4.5 x 1.5
140 2.4 10.6 4.5 x 1.5 188
o eay :
Ly ry 3700.0 152.0 24.3 Ly: ry: 2
o eay 1,200,000 (Ly ry)?
1,200,000 24.3° 2025
ocal :
(2)2
D
183.41 kN/m
3.70 m
2.42'm
Nt 150 kN
2)
N Rx B Nt 183.41x 2.42 150 594.77 kN
thre—2v b oy = Rk 183, 41X 3. 70 — 313.86 ki.m
AW s = KL — 183.41X 370 — 339 31 kN
3) : H 350x 350x 12x 19
A 171.90 cn? YA 2280 cm®
4)
FEARGIS I HE o = a— = 29T — 35 N/m
. _ M 313.86X10° 2
Hh S T obe = — 5580000 = 138 N/mm
S _ S _ . 339.31X10° _ P
AT ) B S Do Yz =91 < 120 N/mm’* ... OK
5)
Ly 3.70
Lz 3.70
H 350x 350x 12x 19
Z
Ly ry 3700.0 152.0 24.3
Lz rz 3700.0 88.9 41.6

FORUMS8
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L r z z
(€]
oc o bey <1
0 caz obagy (1—oc,/ oeay) =
35 138 _
181 188 (i— 85/ 2025 -9 =1... 0K
@)
oct — g bey = ocal
(1— o c/ oeay)
138 _
35+ 1— 35 5095) =175 = 210 ... OK
oc
o bey :
o caz :
L r 3700.0 88.9 41.6 L: r: 2
18 L r 92 o caz 140 0.82 L r 18 x 1.5
140 0.82 41.6 18 x 1.5 181
o bagy:
Lb b 3700.0 350 10.6 Lb: (=Lz) b=
4.5 Lb b 30 o bagy 140 2.4 Lb b 4.5 x 1.5
140 2.4 10.6 4.5 x 1.5 188
o eay :
Ly ry 3700.0 152.0 24.3 Ly: ry: 2
o eay 1,200,000 (Ly ry)?
1,200,000 24.3° 2025
o cal :
(3)3
1
167.89 kN/m
3.70 m
2.42 m
Nt 150 kN
2)
N Rx B Nt 167.89x 2.42 150 557.13 kN
Jr2 2
HFE—X> b M = R8L = 167'89§ 370 — 987.30 kN.m
&AM S s = KL — 6L83X 370 — 310,60 kN
3) - H 350x 350x 12x 19
A 171.90 cm? z 2280 cm?
4)
3
B ge = = SSLIDAC
_ M _ 287.30X10°  _ '
Bl IS 7 obec = 7 = 55980000 = 126 N/mm

FORUMS8
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3
EAWIE I = <H_2i> = 080530 —83 < 120 N/mw' ... OK

ctw

5)
Ly 3.70 m
Lz 3.70 m
H 350x 350x 12x 19

|

Ly ry 3700.0 152.0 24.3
Lz rz 3700.0 88.9 41.6
L r z z

€y
oc o bey
o caz obagy (1—oc, oeay)

32 126
181 188 (1— 32 2025)

IA

+ =0. 86

IA

. OK

@

oc+ o bey
(1—oc,/ 0eay

= gcal

126
(1— 32 2025)

32+ =160 = 210 ... OK

ocC
o bey :
o caz :

L r 3700.0 88.9 41.6 L: r: 2

18 L r 92 o caz 140 0.82 L r 18 x 1.5

140 0.82 41.6 18 x 1.5 181

o bagy:

Lb b 3700.0 350 10.6 Lb: (=Lz) b=

45 Lb b 30 o bagy 140 2.4 Lb b 4.5 x 1.5

140 2.4 10.6 4.5 x 1.5 188

o eay :

Ly ry 3700.0 152.0 24.3 Ly: ry: 2

o eay 1,200,000 (Ly ry)?

1,200,000 24.3 2025

ocal :

14
1
190.39 kN/m
3.70 m
2.42'm
Nt 150 kN

FORUMS8
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2)
N Rx B Nt 190.39x 2.42 150 611.70 kN
HFE—X> b M = R'8L‘ 190. 39§ 370 — 395.80 kN.m
AW s = KL 190.99X 3. 70 — 359 99 kN
3) : H 350% 350x% 12x 19
A 171.90 cm? Z 2280 cm?
4)
3
E Al oc = E = 61%718(? 10 = 36 N/mm’
_ M 325.80x10°  _ )
ph P IS 7 E obc = T = 5580000 = 143 N/mm
g L _ S _ 352.22X10° _ 2
AW T B e (1 e B STid =94 = 120 N/mm’ ... OK
5)
Ly 3.70 m
Lz 3.70 m
H 350x 350x 12x 19
Z
Ly ry 3700.0 152.0 24.3
Lz rz 3700.0 88.9 41.6
L r z z
(€D
oc o bey <1
o caz obagy (1—oc, oeay)
36 143 _
81 ' 188 (I— 36, 2025 %97 =1... K
@)
oc+ — o bey = ocal
(1—oc,/ oeay)
143 _
36+ 1— 36 2025) =181 = 210 ... OK
ocC
o bey :
o caz :
L r 3700.0 88.9 41.6 L: r: 2
18 L r 92 o caz 140 0.82 L r 18 x 1.5
140 0.82 41.6 18 x 1.5 181
o bagy:
Lb b 3700.0 350 10.6 Lb: (=Lz) b=

45 Lb b 30

obagy 140 2.4 Lb b 4.5 x1.5

FORUMS8
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140 2.4 10.6 4.5

o eay :
Ly ry 3700.0 152.0 24.3 Ly: ry:
o eay 1,200,000 (Ly ry)?
1,200,000 24.3 2025
o cal :

x 1.5 188

FORUMS8
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6.1.4
M1
D

2)

il

3)

4)

5)

Ly
Lz

R
B
Nt
W
L

N Rx B
- L 5.00X 3.33

132.09 kN/m
3.25m

150 kN
5.00 kN/m
3.33m

Nt 132.09x 3.25 150

FE—AL K M =2

579.29 kN

= = 6.95 kN.m

8 8

: H 300x 300x 10x 15

A 118.40 cm?

obc =

=

Z

ry 3334.0 131.0

rz 3334.0 75.5
L r z

€))

oc o bey

z 1350 cm®

579.29 X 10°

11840
6.95X10°

N= ==

1350000

Ly 3.33 m
Lz 3.33m

300x 300x 10x 15

25.5
44.2

IA

ocaz T o bagy (1—
49

oc,/ oeay)
5

+

178 186 (1—

¢)

oc+ o bey

=0. 30

IA

49 1853)

(1— o c,/ oeay)
5

= ogcal

49+

ocC
o bey :
0 caz :

(1— 49 1853)

=54 = 210 ... OK

= = 49 N/mm’

= = 5 N/mm’

. OK

FORUMS8
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L r 3334.0 75.5 44.2 L: r: 2
18 L r 92 0 caz 140 0.82 L r 18 x 1.5
140 0.82 44.2 18 x 1.5 178

o bagy:

Lb b 3334.0 300 11.1 Lb: (=Lz) b=

45 Lb b 30 o bagy 140 2.4 Lb b 4.5 x 1.5

140 2.4 11.1 4.5 x 1.5

o eay :

Ly ry 3334.0 131.0 25.5 Ly: ry: 2

o eay 1,200,000 (Ly ry)?
1,200,000 25.5° 1853

o cal :
183.41 kN/m
3.25m
Nt 150 kN
5.00 kN/m
L 3.33m
N  RxB Nt 183.41x 3.25 150  746.08 kN
Avh o=l = 500X 335 _ g g5

- H 300x 300x 10x 15
118.40 cm? z 1350 cm®

_ 746.08X10° _ )
= 11840 = 63 N/mm

. 6.95X10° )
= ~1350000 ~ — ©° \/mm

N= ==

2 obc =

Ly 3.33m
Lz 3.33m
300x 300x 10x 15

=

3334.0 131.0 25.5

(2)2
1
2)
i e —
3)
A
4)
JEREIS
BT TS 7
5)
Z
Ly ry
Lz rz

3334.0 75.5 44.2
L r z z

186

FORUMS8
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€))
oc o bey <1
0 caz obagy (1—oc,/ oeay) =
63 5 _
778 " 186 (i— 63, 1853 -8 =1... OK
@
oc+ — g bey = ocal
(1— o c,/ oeay)
5 _
63+ 1— 63 1853) =68 = 210 ... OK
ocC
o bey :
o caz :
L r 3334.0 75.5 44.2 L: r: 2
18 L r 92 o caz 140 0.82 L r 18 x 1.5
140 0.82 44.2 18 x 1.5 178
o bagy:
Lb b 3334.0 300 11.1 Lb: (=Lz) b=
45 Lb b 30 o bagy 140 2.4 Lb b 4.5 x 1.5
140 2.4 11.1 4.5 x 1.5
o eay :
Ly ry 3334.0 131.0 25.5 Ly: ry: 2
o eay 1,200,000 (Ly ry)?
1,200,000 25.5? 1853
o cal :
33
1)
R 167.89 kN/m
3.25m
Nt 150 kN
5.00 kN/m
L 3.33m
2)
N Rx B Nt 167.89x 3.25 150 695.64 kN
thpe—As by o=l = 500X 335 _ g g5
3) - H 300x 300x 10x 15
A 118.40 cm? VA 1350 cm®
4)
e _ N 695.64X10° _ )
R rwalis oc = = 11840 = 59 N/mm
N _ M 6.95X10° _ )
Bl ) B obe = —— = 1550000 ~ — ©° N/mm
5)
Ly 3.33 m

186

FORUMS8
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Lz 3.33m
H 300x 300x 10x 15
y
Z
Ly ry 3334.0 131.0 25.5
Lz rz 3334.0 75.5 44.2
L r Z z
€H)
oc o bey <1
0 caz obagy (1—oc,/oeay) =
59 5 _
78 T 186 (i— 59,/ 1853 -6 =1... K
@)
oct — g bey = ocal
(1— o c,/ oeay)
5 _
59+ 1— 59 1853) =64 = 210 ... OK
ocC
o bey :
o caz :
L r 3334.0 75.5 44.2 L: r: 2
18 L r 92 0 caz 140 0.82 L r 18 x 1.5
140 0.82 44.2 18 x 1.5 178
o bagy:
Lb b 3334.0 300 11.1 Lb: (=Lz) b=
45 Lb b 30 o bagy 140 2.4 Lb b 4.5 x 1.5
140 2.4 11.1 4.5 x 1.5 186
o eay :
Ly ry 3334.0 131.0 25.5 Ly: ry: 2
o eay 1,200,000 (Ly ry)?
1,200,000 25.5? 1853
o cal :
(D4
1)
190.39 kN/m
3.25m
Nt 150 kN
w 5.00 kN/m
L 3.33m
2)
N Rx B Nt 190.39x 3.25 150 768.77 kN
fhpe—As b=l = 500X 335 _ g g5 1\

FORUMS8
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3)

5)

: H 300x 300x 10x 15

A 118.40 cm? Z 1350 cm®
JE A I ) B e = i = 76%;1510' = 65 N/mn’
_ 6.95X10° _ :
gl S ) B obc = 7 1320000 ~ — 5 N/mm
Ly  3.33m
Lz 3.33m
H 300x 300x 10x 15
y
Z
Ly ry 3334.0 131.0 25.5
Lz rz 3334.0 75.5 44.2
L r z z
@
oc o bey <1
0 caz obagy (1—oc,/ oeay) =
65 5 _
78 T 186 (i— 65,/ 1853 -9 =1... K
@
oct+ — g bey = ocal
(1—oc,/ oeay
5 _
65+ (1— 65 1853) =70 = 210 ... OK
oc
o bey :
o caz :
L r 3334.0 75.5 44.2 L: r: 2
18 L r 92 o caz 140 0.82 L r 18 x 1.5
140 0.82 44.2 18 x 1.5 178
o bagy:
Lb b 3334.0 300 11.1 Lb: (=Lz) b=
4.5 Lb b 30 obagy 140 2.4 Lb b 4.5 x1.5
140 2.4 11.1 4.5 x 1.5 186
o eay :
Ly ry 3334.0 131.0 25.5 Ly: ry: 2
o eay 1,200,000 (Ly ry)?
1,200,000 25.5° 1853
o cal :

FORUMS8
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6.1.5
(D1
1
R 132.09 kN/m
L1 1.85m
L2 2.80 m
1.35m
W 5.00 kN/m
Nt 150 kN
0 45
2)
N (/2)x (L1 L2)x R cos® Nt
(1/2)x (1.85 2.80)x 132.09 cos(45° ) 150  584.32 kN
Jr2 2
fiFe—t b= ke = 200 LIy g
3) : H 300x 300x 10x 15
A 118.40 cm? Z 1350 cm®
4)
gz & N 584. 32 X 10°
JEREISTIE  oc = e 11810 = 49
TSI obe = I\Z/[ = %3%)6152)(1)0 = 1 N/mm®
5)
L 1.35m
H 300x 300x 10x 15
y
Z
(€D)
oc o bey <1
o caz obagy (1—oc, oeay) =
49 1 _
710 210 (1— 49,7 11299) -4 =1... OK
@)
oct = g bey = ocal
oc/ oeay
1 _
49+ 1— 19 11299) =50 = 210 ... OK
ocC
o bey :
o caz :
L r 1350.0 75.5 17.9 L: r: 2

FORUMS8



- 65 -

L r 18 o caz 140x 1.5 210
o bagy:
Lb b 1350.0 300 4.5 Lb: (=Lz) b=
Lb b 4.5 o bagy 140x 1.5 210
C eay :
Ly ry 1350.0 131.0 10.3 Ly: ry: 2
o eay 1,200,000 (Ly ry)?
1,200,000 10.3° 11299
ocal :
(2)2
1
R 183.41 kN/m
L1 1.85m
L2 2.80m
1.35m
w 5.00 kN/m
Nt 150 kN
0 45
2)
N (1/2)x (L1 L2)x R cosB Nt
(1/2)x (1.85 2.80)x 183.41 cos(45° ) 150  753.06 kN
thre—A b=l = 500X LISy g
3) : H 300x 300x 10x 15
A 118.40 cm? YA 1350 cm®
4)
e e g _ N 753.06X10° __
JEREIS L oc = —— = Ti840 = 64
e i oM 1.14X10° :
BT IS obe = 7 = 1350000 ~ — 1 N/mm
5)
L 1.35m
H 300x 300x 10x 15
y
Z
@
oc o bey <1
o caz obagy (1—oc,  oeay) =
64 1 _
710 510 (1— 64, 11209) >3l =1... 0K

FORUMS8
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@
oc+ (1_000?23},) = ocal
64+—— 51 111299) =64 < 210 ... OK

gcC

o bey :

ocaz :
L r 1350.0 75.5 17.9 L: r: 2
L r 18 o caz 140x 1.5 210

o bagy:
Lb b 1350.0 300 4.5 Lb: (=Lz) b=
Lb b 4.5 o bagy 140x 1.5 210

o eay :
Ly ry 1350.0 131.0 10.3 Ly: ry: 2

o eay 1,200,000 (Ly ry)?
1,200,000 10.3° 11299
o cal :

)3
1
R 167.89 kN/m
L1 1.85m
L2 2.80 m
L 1.35m
w 5.00 kN/m
Nt 150 kN
0 45
2)
N (/2)x (L1 L2)x R cos® Nt
(/2)x (1.85 2.80)x 167.89 cos(45° ) 150 702.03 kN
S T2 2
fiFe—tr b = g— = 200 LI — gy
3) - H 300x 300x 10x 15
A 118.40 cm? z 1350 cm®
4)
i _ N 702. 03 X 10°
JERMEISIE o = T 11840 = 59
M 1.14X10° _ .
BUFISE  obe = 7 = 1350000 ~ — 1 N/mm
5)
L 1.35m

H 300x 300x 10x 15

FORUMS8
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€y
oc o bey
0 caz obagy (1—oc,/oeay)

59 1
210 210 (1— 59,/ 11299)

IA

+ =0.29

lIA

. 0K

¢)

oc+ o bey = gcal
(1— o c,/ oeay) =

1
59,/ 11299)

c”n
S
IA

59+ = 210 ... OK

ocC
o bey :
C caz :
L r 1350.0 75.5 17.9 L: r:
L r 18 o caz 140x 1.5 210
o bagy:
Lb b 1350.0 300 4.5 Lb:
Lb b 4.5 o bagy 140x 1.5 210
o eay :

Ly ry 1350.0 131.0 10.3 Ly: ry:

o eay 1,200,000 (Ly ry)?
1,200,000 10.3° 11299
o cal :

(4)4

1
R 190.39 kN/m
L1 1.85m
L2 2.80m

1.35m

W 5.00 kN/m
Nt 150 kN
0 45

2)

N (1/2)x (L1 L2)xR cos® Nt

(=Lz) b=

(1/2)x (1.85 2.80)x 190.39 cos(45° ) 150  776.01 kN

72 2
fiFe—t b o= gl = 200 LIy g
3) © H 300x 300x 10x 15
A 118.40 cm Z 1350 o

FORUMS8
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4)

ey
Q

JEREIE T

HIFISIE  obe =

5)

_ 776.01X10°
= T 11840 = 66
1. 14X 10°

1350000

= 1 N/mm’

N= ==

1.35m

H 300x 300x 10x 15

€Y)

ocC

o bey

IA

0 caz obagy (1—oc,/ oeay)

66

310 "

@
oc+t

1
210 (1— 66,7 11299)

=0. 32

IA

. OK

g bey = ocal

(1—o

¢/ oeay

1

66+——

ocC
o bey :
0 caz :

o bagy:

o eay :

o cal :

g}
>
A

66,7 11299) 210 ... OK

L r 1350.0 75.5 17.9 L: r: 2
L r 18 ocaz 140x 1.5 210

Lb b 1350.0 300 4.5  Lb: (zLz) b=
Lb b 4.5 o bagy 140x 1.5 210

Ly ry 1350.0 131.0 10.3 Ly: ry: 2
o eay 1,200,000 (Ly ry)?
1,200,000 10.3? 11299

FORUMS8
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6.1.6
(DNo.1
1)
X L1 3.25m
Y L2 3.33m
X L1 3.33m
Y L2’ 4.09 m
N1
X Y
R(N/m) | P (kN) | RxLL P (kN) | RxL2 P (kN)
1 | 132.09 | 150.00 579.29 590.32
2 | 183.41 | 150.00 746.08 761.40
3 | 167.89 | 150.00 695.64 709.66
4 | 190.39 | 150.00 768.77 784.67
(1) 2789.79 (2) 2846.05

P

NI (1/50)x ((1) (2)) (L1/50)x (2789.79 2846.05) 112.72 kN

N2
X y
wi (kN/my | wix LT (kN) wix L2 (kN)
1 5.00 16.67 20.44
2 5.00 16.67 20.44
3 5.00 16.67 20.44
4 5.00 16.67 20.44
(3) 66.67 4) 8175

2)

3)

4)

JEREISTIE  oc = = =23 < 173 N/mn® ...

L

N2 (3) (4) 66.67 81.75 148.42 kN

N3 wxH 0.91x 7.50 6.84 kN

w; (kN/m)  H; (m

N4 0.00 kN

N N1 N2 N3 N4

112.72 148.42 6.84 0.00 267.98 kN
N’ N1 N2 N3

112.72 148.42 6.84 -42.54 kN

: H 300x 300x 10x 15 A 118.40 cm’

N 267. 977X 10°

A 11840

r 3616.0 75.5 47.9 L: r: 2

OK

150.00 kN
5.00 kN/m

FORUMS8



- 70 -

x 1.5 173 N/mm’

) = 0.4726 m™

18 L r 92 o ca 140 0.82 L r 18 x 1.5
140 0.82 47.9 18
51 B
1B 2.12m
_ kH + D _ 8979 X 0.30

B=1 ( 4E1 ) =W 4X2.00X10°X0.00006750
kH kHo(BH 0.3)** 1 B
kHo o Eo 0.3
BH VD B 0.796 m
No o Eo kHo kH

m kN/m? kN/m® kN/m?
1 4.00 5600 18667 8979
2 20.00 11200 37333 17959

L L1 1.50 2.12 3.62m

FORUMS8
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7
7.1
7.1.1
1)
¢ 36.0(mm)
SS400 40mm
141 (N/mm*)
L 2.000(m)
n 1C )
A @ 36.0°%x (Tt 4)(mm*)
2)
P Rx L
R L P
kN/m m kN/
45 .37 2.000 90.75
3)
_ PXx10’
a nXxA =04
o o sa
N/mm’ N/mm’
89 141 o
7.1.2
1)
150x 75x 6.5x 10
SS400
210(N/mm?)
2.000(m)
2)
_ PXL
M=
P L M
kN/ m kN.m/m
90.75 2.000 18.15
3)
Z ( 115x 2cm®)
2 1
o 0 Sa
N/mm’ N/mm’
79 210 o

FORUMS8
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